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QUESTION 1

Which three activities can customers perform on the NetApp NOW self-service support Web site? (Choose three.) 

A. register NetApp products 

B. order software 

C. download software 

D. contact a local sales representative or reseller 

E. verify service contracts 

Correct Answer: ACE 

 

QUESTION 2

What are two benefits of RAID-DP? (Choose two.) 

A. protects against double-disk failure 

B. provides real time data mirroring 

C. accommodates larger RAID groups 

D. increases resiliency by providing single parity 

Correct Answer: AC 

 

QUESTION 3

From the corporate pitch, what does NetApp bring to the complex world of enterprise data management? 

A. unmatched scalability 

B. unmatched services 

C. unmatched simplicity 

D. unified architecture 

Correct Answer: C 

 

QUESTION 4

How does NetApp Snapshot technology help customers meet their RTOs? 

A. provides near instantaneous data recovery 
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B. consumes no storage when the Snapshot is taken 

C. reduces the amount of data loss 

D. minimizes performance impact 

Correct Answer: A 

 

QUESTION 5

The NetApp Unified storage approach provides many benefits to companies. These include reduced footprint, lower
TCO, and increased utilization. This approach also improves the efficiency of staff required by _____. 

A. requiring less downtime when upgrading 

B. providing a single platform to manage 

C. needing fewer networks to provide data 

D. providing scalable storage with no downtime 

Correct Answer: B 
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